Tic Tac Math
1.  The oldest player goes first.  They pick a square to solve an equation.  If they solve it correctly they get 100 points.
2. The next player gets their turn to solve an equation.
3. You get 100 points for each tic-tac-toe (3 in a row)
4. [bookmark: _GoBack]The play with the most points at the end wins (play until the board is full)
SCORE
Player 1:						Player 2:




	

x + 3 = 12
	

3x = 15
	

x – 4 = -3

	

x/4 = -2
	

2 – x = 3
	

6x = 36

	

½x = 4 
	

x/5 = 0
	

2 + x = 6



